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03 Al&OHY| 1,000 0 1,000
O MECAIHECR(AR23-0654) HEETA
NEETTE 1,000,00024 1,000
EBIER 13,039,680 10,969,664 2,050,016
X 5,046,360
= 1,389,000
2 6,604,320
NESTECN=INPITEE 5,006,680 5,790,664 AT783,984
X 66,360
= 750,000
z 4,190,320
SANZYREZ 9,160 34,360 £25,200
201 er2y| 1,960 27,160 £25,200
01 AFRE2lt] 1,960 1,960 0
O SH(CAINLLDEX)
7,00024+421x704! 1,960
202 01t 7,200 7,200 0
01 =UHoiH 7,200 7,200 0
O OHI(EANL Y 2A5)
150, 0002 #4901+ 122 7,200
SAIRIIZ FH| 137,520 456,672 £319, 152
X 66,360
2 71,160
301 LBHBALS 4,800 4,800 0
09 BAIAEI 2 &S 4,800 4,800 0
OZAXIZE SAEY L IAMHTH X2
30,0002 +402i*43] 4,800
401 AIZHIL 2T 132,720 451,872 £319, 152
X 66,360
2 66,360
01 AlZH] 132,720 446,760 314,040
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9l XIZIksst SAIDIBIES (Sr9): 1)
3 MNEST -
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
OZAISS CCTV ARISAHEINE)
22, 120,00021+674 2 132,720
X 66,360
2 66,360
EPTEEESE 1,700,000 1,577,632 122,368
ETEE 1,700,000 1,577,632 122,368
01 A&t 1,697,000 1,570,000 27,000
O MESAHNHT2(3-85:HE) HEBA
497,000,002 497,000
O BD-7oI2A T2HYIBA
500,000, 0002 500,000
O ANHEZADIEE2(2-315: AR AS]) Jfas
A 200,000, 0002 200,000
O OHAREZ SEEIA 200,000, 0002 200,000
O ANAMKSZ~ERE} BTHRTA
100,000,002 100,000
O NEZAIIEE2(2-42,305 : AYAS) N
A 200,000, 0002 200,000
03 Al&SCHY| 3,000 7,632 £4,632
O Al&=CHY| 3,000, 0002 3,000
S ENEEEES 680,000 380,000 300,000
401 AlEBILSCHY| 680,000 380,000 300,000
01 A&t 678,000 378,560 299,440
O AIDITILY =i3ix| 50,000,002 50,000
O AN RHETA o HES OHFEAIL 24
80,000,002 80,000
O ANIESAIEEZ WERSA 50,000,002 50,000
O BeseIIEAY HEEBA
198,000, 0002 198,000
O AlOHHSOIIESY N HEESA
200,000, 0002 200,000
O H2ANP ALSK 24 100,000,002 100,000
03 Al&SCHY| 2,000 1,440 560
O AI&=CHY| 2,000, 0002 2,000
S IESE=IND EJNPEETT 830,000 300,000 530,000
401 AlBILSCHY| 830,000 300,000 530,000
01 A&t 828,000 300,000 528,000
O BHOISDAY =& Fu|(LAHI)
298,000, 0002 298,000
O P)ENEL Jh2s FHl(S4HI)
300,000, 0002 300,000
O YK FAREL L LRIHY
200,000, 0002 200,000
O HENZE AR 24 30,000,002 30,000
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el XIZIksE SADIBIES (Er9l: &8
3 MNEST -
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
03 Al =0h| 2,000 0 2,000
O Al&=CHY| 2,000, 0002 2,000
SHah MRS HYTZ JHE(0HE) 550,000 2,042,000 A1,492,000
= 250,000
2 300,000
401 AlEBILSCHY| 550,000 2,042,000 A1,492,000
= 250,000
2 300,000
01 A&t 548,000 2,034,800 1,486,800
OBIYEI-5H ARIEHR] RS2 IHEBAHOHZ
3-13) 548,000, 0002 548,000
= 250,000
2 298,000
03 Al&=CHY| 2,000 7,200 5,200
OAI&SCHY| 2,000, 0002 2,000
B EEESEEES) 1,100,000 1,000,000 100,000
= 500,000
2 600,000
401 Al&BIL=CHY| 1,100,000 1,000,000 100,000
= 500,000
2 600,000
01 A&t 1,096,040 993,700 102,340
O METADHE2(3-175: 1) HLBA
1,006,040, 0002! 1,006,040
= 496,040
2 600,000
03 Al&SCH| 3,960 6,300 £2,340
O A= 1,100,000, 00024+0. 36% 3,960
= 3,960
SHATIX RS FHIAS 5,562,000 4,549,000 1,013,000
X 3,880,000
= 498,000
2 1,184,000
NOLATHRIH S B FHIAY 1,261,000 1,751,000 £490,000
X 883,000
= 113,000
2 265,000
401 AlEBILSCHY| 1,261,000 1,751,000 490,000
X 883,000
= 13,000
2 265,000
01 A&t 1,256,460 1,744,700 488,240
O ARIIATHRIZEIFHIA 1,256,460, 0002 1,256,460
X 878,460
= 113,000
2 265,000
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el SUATHAHSEEHIAY (cHel:&J)
- _ _ PlEL=
S - FE - SRI(SIH) - HRARY - BAS il ko Sl o HimE=]
03 A& 2204 4,540 6,300 A1,760
O AlZ=0HI 1,261,000,000&*0. 36% 4,540
Xl 4,540
SHEHATHAIH S EHIALG 2,215,000 1,977,000 238,000
Xl 1,550,000
= 200,000
= 465,000
401 AlEHIZ 048I 2,215,000 1,977,000 238,000
Xl 1,550,000
= 200,000
= 465,000
01 Al&HI 2,207,026 1,969,883 237,143
O HEHATHAISEEHIAY 2,207,026,000& 2,207,026
N 1,542,026
= 200,000
i 465,000
03 Al S04 7,974 7,117 857
O AE=0HHI 2,215,000,000&+0. 36% 7,974
Xl 7,974
SHAMXSEEY HEIHE - 29 20,000 20,000 0
207 HSIHEH| 20,000 20,000 0
01 ¢2E4| 20,000 20,000 0
O SESHREESIAIY Ol HE s+ E8S
20,000,000 20,000
ANEHATHKI ZSEEHIALY 1,570,000 801,000 769,000
Xl 1,100,000
& 140,000
= 330,000
401 AlEHIZL 048I 1,570,000 801,000 769,000
Xl 1,100,000
& 140,000
i 330,000
01 Al&HI 1,564,348 795,954 768,3%
O NEHSESHXE LAY
1,564,348,000& 1,564,348
Xl 1,094,348
= 140,000
= 330,000
03 AlE=20Hd| 5,652 5,046 606
O AlZS0HHI 1,570,000, 0002 *0. 36% 5,652
Xl 5,652
SNHATHXSEEH(sESAAX) 496,000 0 496,000
Xl 347,000
= 45,000
= 104,000
403 TXIHMEX=01& 496,000 0 496,000
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SRS Al
AR

ool SOATINIEEEEIAY (Sr9): 1)
. - PSEL= =
SA - F . CR(BH) - HRAY - BES Ofl koY Ol arod F{ImE=ST
N 347,000
= 45,000
= 104,000
02 SISOt A=2X AN 496,000 0 496,000
O BHE SESARNSLEAY
496,000,000& 496,000
Xl 347,000
= 45,000
= 104,000
SADHEY EstFal 900,000 650,000 250,000
S AIZE ALY 900,000 650,000 250,000
401 Al &HIYLROHY| 900,000 650,000 250,000
01 AI&H] 898,000 645,905 252,095
O MHESH =22 ZHISA 300,000, 000& 300,000
O AHES B4 2852 HLBA
398,000, 000& 398,000
O IR SFDIZTA
100,000, 000& 100,000
O AE2 B SRES I L AALY
100,000, 000& 100,000
03 Al CH| 2,000 4,005 £2,09
O AlZ=20HHI 2,000, 000& 2,000
ME A JHSAL 1,571,000 0 1,571,000
Xl 1,100,000
= 141,000
= 330,000
SAHIKIF MEHA JHEALS 1,571,000 0 1,571,000
Xl 1,100,000
= 141,000
i 330,000
403 XXISHHSX=01H 1,571,000 0 1,571,000
Xl 1,100,000
= 141,000
i 330,000
02 SISOt A=2E AN 1,571,000 0 1,571,000
O SIXIT 2021 HEAL
1,571,000, 0002 1,571,000
X 1,100,000
= 141,000
= 330,000
Hees(ZMTAIL) 558,550 654,550 296,000
HEHHXIZ 558,550 654,550 296,000
SAIHEHII8 88 543,550 589,550 246,000
1 JIEEDISEES 543,550 589,550 246,000
01 JIEREINEES 543,650 589,550 246,000
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A ZMEAIZ
HH: NWRES(FHZAID)
=2l WRAHHXE (cHel:&J)
- _ _ PlEL=
S - FE - SRI(SIH) - HRARY - BAS il ko Sl o HimE=]
O &MY S5III2ESE3H dE2
543,550,000& 543,550
MAHTNTZHAMNBEEZ 15,000 65,000 250,000
701 JIE HEHES 15,000 65,000 250,000
01 JIEtSIHEES 15,000 65,000 250,000
O LA EZLE-ESH HEZ 15,000, 000& 15,000
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